Multiply and Divide by 1000 (H)

Find each product or quotient.

93 X 1.000 = 56 X 1.000 =
99:1.000 = 54:1.000 =

81:1.000 = 27 :1.000 =

7:1.000 = 11 x 1.000 =
58:1.000 = 14 x 1.000 =
19:1.000 = 60 x 1.000 =
37 X 1.000 = 62 x 1.000 =
55:1.000 = 68 :1.000 =

9:1.000 = 87 x 1.000 =
90:1.000 = 82 X 1.000 =
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Multiply and Divide by 1000 (H) Answers

93 X 1.000 =93.000

99:1.000 =0,099

81:1.000 =0,081

7:1.000 =0,007

58:1.000 = 0,058

19:1.000 = 0,019

37 x 1.000 =37.000

55:1.000 = 0,055

9:1.000=0,009

90:1.000=0,09

Find each product or quotient.

56 X 1.000 = 56.000

54:1.000 =0,054

27 :1.000 =0,027

11 X 1.000 =11.000

14 x 1.000 = 14.000

60 X 1.000 = 60.000

62 X 1.000 = 62.000

68 :1.000 = 0,068

87 x 1.000 =87.000

82 x 1.000 =82.000
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